f[@wg © HO»O 3,05 / e G G 2 flenln&EsLd LMTGI&TSSLULL L sm6d / All Rights Reserved] A

Ku wOHdmk |, dmh Matugama Education Zone kj;Jfk fy tpf tyak; u;=.u wOHdmk I,dmh Matugama Education Zone kj;, Jfk fy;tpf; tyak; u;=.u wOHdmk I,dmh Matugama Education Zone kj;Jfk fy;tpf; tyak; um
wOHdmk I,dmh Matugama Education Zone kj;Jfk fy; t l!gama ﬁt¢at‘ ﬁa:" Wgama Education Zone kj;Jfk fy;tpf; tyak; u;=.u wOHdmk
I, dmh Matugama Education Zone kj;Jfk fy;tpf; tyak; u;=.u wi dmkl gama tEducation Zone k;J yak u;=.u wO dm atugama tducation Zone kj;Jfk fy;tpf; tyak u;=.u wOHdmk I,dmh

Grade 10 Information & Communication Technology || PaperI || Time—1h

* Important.

e Answer all questions.

1) which of the following statement is false about data?
1) Information can be obtained by processing data. 2) Not use for making decision.
3) words and symbols are data. 4) data can be obtained by processing data.

2) select the example for the data,
1) Maximum marks obtained by students for the ICT.
2) Year the school was started.
3) A weight chart of a child.
4) The value of the country’s gross domestic product.

3) Not a characteristic of a quality information,
1) relevancy. 2) completeness. 3) complexity. 4) Timeliness.

4) Not a service of a e-government,
1) Payment service. 2) Information on business organizations. 3). Acts 4) Bank details.

5) Not a characteristic of distance learning,
1) within a flexible time frame, provide the facility to learn.
2) Digital library facility on joining a course.
3) Online assignments and quizzes.
4) Providing the opportunity to study only fee based courses at all times.

6) Select the machine which can create digitalized images of internal organs of the body?
1) ECG 2) EEG 3) CAT 4) MRI

7) Not an advantage of online shopping,
1) Open 24 hours.
2) There will be a difference between the product ordered and the product received by the customer.
3) The ability to pay using a debit or credit cards.
4) The ability to purchase from any trade center in any country.

8) what is categorized as not a bad effect of ICT,
1) addiction.
2) building unsuitable friendships through social media.
3) expanding opportunities for education.
4) violating copyrights.
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9) what is the special characteristic that is not relevant for third generation computer,
1) using IC. 2) Using high level programming languages.
3) using a graphical user interface as OS. 4) using keyboard and mouse.

10) What is not a special characteristic of a computer,
1) Speed. 2) Efficiency 3) Accuracy. 4) Intelligence.

11) Computers can be classified according to its physical size and technology. The category that can be
classified according to its physical size,
1) Analog Computers.  2) Digital Computers.  3) Hybrid Computers. 4) Micro Computer.

12) What is the correct path of saving data process by a computer,
1) memory register= main memory—> secondary memory
2) memory register = secondary memory > main memory
3) main memory = memory register = secondary memory
4) main memory > secondary memory - memory register

13) Can be used to check the accuracy of a cheque,

1) OCR. 2) MICR. 3) OMR. 4)ATM.
14) What is the most electricity consuming monitor type,

1) LCD monitor. 2) LED monitor

3) CRT monitor 4) None of above.

15) Select the secondary storage device which is not using optical media,
1) SSD 2)CD 3) BLUE RAY 4) DVD

16) what is the octal number of the decimal value 44710 ?
1) 6755 2) 6773 3) 7763 4) 5763

17) What is the correct numbering system that relevant 749 ?
1) Only decimal . 2) decimal & binary.
3) decimal & hexa decimal. 4) octal & hexa decimal.

18) What is the binary value of the hexadecimal value 23As¢,
1) 1000111010, 2) 1110111010, 3) 1001111011, 4) 1000100010,

19) What is the correct answer for ascending order of 1001111,, 165s, 68710, 2A16 ?
1) 165g, 1001111,, 2A16, 68710 2) 1001111,, 68710, 1658, 2A16
3) 2A16, 1655, 10011115, 68710 4) 68710, 1001111, 165g, 2A16

20) What are the MSB value and LSB value of the binary number 0110111.0110;,
I)1andO 2) 0and O 3) land 1 4) 0and1

21) How many bytes and nibbles are included in 16 bits?
1) 1byte,2nibbles 2) 1byte, % nibble 3) 2bytes, 4 nibbles 4) 2bytes,2nibbles
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22)Number of bits using in ASCII coding system,
1)4 2)7 3) 8 4)16

23) What is the maximum file from the below answers?

1) mp3 file with 3MB  2) gif file 1024 byte 3) txt file with 300byte 4) jpeg file with 2048 KB

24) For the output of the following logic circuit to be ‘0’ .What values should be given to A and B.

1 1) 1 and 1
A 2)1and 0

3)0and 0
B 4) 0and 1

25) Find out the suitable logic gate for following truth table

A B Q 1) NAND
0 0 1 2) NOR
0 1 0 3) AND
I 0 0 4) OR
1 ] 0
26) Which of the following logic gates can see the output going false only when all the inputs are true?
1) NAND gate. 2) NOR gate
3) AND gate. 4) OR gate

27) Select the correct statement regarding the output of following logic circuit

A
1) Always outputis 1 . 2) Always output is 0.
3) outputis O or 1. 4) input and output are the same.

28) Consider about following file extensions.
A. docx B. png C. xIlsx D. jpeg E. doc F. ppt G. xls

Which of the above is valid for files prepared using by word processing software and
spreadsheet software correspondingly?

1) A,DandF,G 2) B,CandD,F 3) A,EandC,G 4)E, Band G, F

29) which short cut key is used to select a whole document?
1) Ctrl+S 2)  Ctrl+A 3) Ctrl+H 4) Ctrl+X

30) Select the tools that only appear in the Home tab in word processing software,

1) Orientation, font color.
2) Bold, Font Size
3) Page size, Orientation

4) Underline, Table
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31) Select the tools to insert your name to confirm the ownership of a document created by a
word processing software and connect to your web page on the internet,
(1) Bookmark, Cross-reference (2) Equation, Hyperlink
(3) Watermark, Hyperlink (4) Watermark, Page Border

32) Select the incorrect statement about word processing software.
(1) This can also be saved as pdf.
(2) This software can be used to insert text, tables and photos.
(3) This software can include animations.
(4) Documents created by this software can also be printed in A4 and A3 format.

33) Consider the following statements about tables in word processing software and choose the correct the
statements

A. Two or more cells can be merged.
B. Formulars can be used to Add values from several consecutive cells.

C. Functions can be used for calculations.
1) A only 2) B only 3)Aand B 4)ABand C

34) Cannot be created using Mail Merge facility,

1) Letters 2) Envelopes 3) Folders 4) Reports
35) Which of the following is not an example for spread sheet software,
1) Excel 2) Google Sheets  3) LibreOffice calc 4) open office calc

36) Here is a small part of a work sheet of a spread sheet,If the function = max(A1,B3,C2)
is written in C4, the value shown in that cell is?

A B = D
1)9 2) 12 1 2 E 5
2 6 6 3
3 5 9 12
3)6 4)5 7
-

37) Which function can be used to find the number of cells contained in a cell range
1) =Max() (2) =Counta( ) (3) =Sum() (4) =Count()

38) If the function =Sum(A1:A4)is written in cell A5, the value shown in that cell is ?

A | B

1)4 2) 16

AB

3) 16+AB 4) #Error!

(O I SRTCRY S

39) If the function = Min(A1:A4)is written in cell A5, the value shown in that cellis 2,
1) 5 2) 2 3) AB 4) 9

40) Cell may contains,

1) Text 2) Numbers 3) Formula 4) all of the above.
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Second Term Test-2023

Grade 10 Information & Communication Technology PaperII Time 02h

Important.

First question is compulsory and answer four other questions.

20 marks will be given for the question number 01 and 10 marks will be given for the other
questions .

1) (i)Convert 491 to it’s decimal number.
(ii) Name two solid state storage devices (Semiconductor storage device)
(iii) What are the analog computers?
(iv) What is the largest number among these numbers?
a) 1111010101, b) 147 €) 11245 d) 12BDs6
(v)Why is a dot-matrix printer not suitable for hospital theaters?
(vi) Draw a diagram to connect the computers named C1, C2, C3, C4 according to a bus topology.
(vii) The character “m" is represented in the ASCII table as 109 1o, Write the ASCII code for the word
'no".
(viii)There are some blanks regarding to the data measuring units. fill in the blanks (A-H) in follwing
table.
8bits [ ... A
...... [ SO 1 kilobyte
...... Corrrne S T
...... Evreene 1 Gigabyte
...... Feorenne TRUPRUON C TR
...... Heoorone 1 Petabyte
(ix) Write two basic components required for data communication.
(x) Write two disadvantages of distance learning. (2x10=20 )
1
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2) Meaningful processed data is identified as information.

a) Write two examples for data and information. (Marks 2)

b) Zonal education office is set up to use a fingerprint machine to record attendance. By placing the
finger on the sensor, the concerned person will be correctly identified and the time of arrival and
departure will be recorded and given as soft copies. Write the input, output and process of this
system. (Marks 3)

c) Select the most suitable answer for A from the B category. ( Marks 5)

A Category B Category
1. Guided media A. Switch
2. Network connecting devices B. PS/2 Port
3. Internet C . BUS topology
4. Network Topology D. Fiber cables
5. Mouse E. World Wide Web(WWW)

3) I) Main door or the back door can be used to exit or enter the house. Here is the electric circuit for above

statement.
A
—0
Q
o

; 5

I.  What is the logic gate represents in above circuit. (marks 1)
II.  Draw the logic gate for this. ( marks 1)
III.  Write the logical expression for the gate. (marks 1)
IV.  Draw the truth table. (marks 1)
V.  Mention two combinational logic gates. (marks 1 )
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II) Construct the logical expression corresponding to the diagram below and draw the truth table.
(marks 5)
A $
B /
C _/
4) I .State the following statements are true or false . (marks 5 )
1. ASCII coding system was used in Mainframe computers.
2. Unicode code system can be used to represent letters , symbols and pictures.
3. 16 bits can be represented in BCD code system.
4. EBCDIC code system allows the use of seven bits binary numbers.
5. BCD code system is used to represent decimal numbers.
II. Write hexa decimal value for following colour codes. (marks 5 )
colour Hexa decimal value R G B
Blue # 21 21 255
Light green 55 227 47
black 24 22 23
purple 135 31 121
yellow 255 238 0
5) I. State the following statements are true or false.
A. Find and Replace helps you to find words in a document and replace words.
B. Ctrl +END and Ctrl+Home keys are used to take the cursor at the beginning of the document
and the end of the document respectively
C. FrameMaker and Lyx are examples for word processing software.
D. Ctrl+K keys are used to connect to internet directly from a document created by using a word
processing software. (marks 2 )
II. Following is a document that created using word processing software.
b. To create this document name two soft wares that should be opened on any computer with
internet access. (marks 1)
c. Smart phones and tablet PC’'s are used for word processing today .Write two word
processing software are available for this purpose? (marksl1)
3
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iii. Select and write the tools(labeled 1 to 18) for shaping from (A-F) in the below document.

(marks 6 )

~
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\ G

tion or cabling options to access information to

work. Newer connection types allow data to flow much quickly, an
people are setting up or switching to faster connection methods. Some pppular

r from

more
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e (Coaxial
P+ A copper wire surrounded with
y insulation with a grounded cover of
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6. “Beautiful Life” is a small business that collect village produce and delivers it to supermarket. Below is
a excel sheet that use to create their monthly salary.

~

A B C D E F
1 BEAUTIFUL LIFE
2 MONTHLY EMPLOYEEE SALARY LIST- AUGUST
EMPLOYEE BASIC TRANSPORT LOAN NET
3 NO. NAME SALARY(Rs) |ALLOWANCE(Rs) |INSTALLMENT(Rs) [SALARY(Rs)
4 A001 MALITH PERERA 23000 3000 - 26000
5 A002 KAMAL SILVA 22500 2500 2000 23000
6 A003 RUWAN FERNANDO 25000 - 2000 23000
7 A004 SAMAN KUMARA 19750 - 1750 18000
8 A005 NANDANA KUMARAGE 21200 3500 - 24700
9
10 TOTAL ALLOWANCE FOR TRANSPORT
11 LOAN INSTALLMENT RECEIPTS
12 TOTAL AMOUNT PAID FOR SALARY
13
I Write down the formula to calculate the net salary of Malith Perera of employee number
A001. (The same formula is to be used to calculate the net salary of other employees as well)
= basic salary+ transport allowance - loan installment (marks 2 )

Il. Write down the formula for writing the total cost of transport allowances in cell D10.
=function(cell1:cell2) (marks 2 )

M. Write the formula using functions to write the number of employees receiving transport
allowances in cell D11. (marks 2 )
=function(cell1:cell2)

V. Use the function to write the corresponding formula in cell D9 to display the maximum
amount received in transportation allowances. (marks 2 )

V. Name two types of graphs that can be drawn to show the net pay received by each employee.

7) Information & Communication Technology is used in most of the fields.

(marks 2 )

Write two G2C (Government 2 citizen) services in e.govenment.

Write the function of EEG(Electro-encephalography) machine and ECG(Electrocardiogram)
machine.

Write two examples for Telemedicine.

Write two examples for ICT in management of farmhouse.

Write two ways to pay for a product or service through e.banking. (marks 10)
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